8th WCCT - Entries Section G: Fairies

Theme

Required are Anticirce direct #2 problems showing,,clash of rebirth*. A clash of rebirth may occur in the following situation:
The same sguare is a rebirth square for two pieces of different colours. Through the rebirth of one of these pieces a capture
by the other piece becomes illegal, or acheck isnolonger effective.

The following are the permitted groups of pieces. Only one of these groups can be exploited, and at least one piece-type
belonging to the selected group must be used.

Group 1: Grasshopper, Nightrider

Group 2: Grasshopper, Rookhopper, Bishophopper

Group 3: Lion, Rook-Lion, Bishop-Lion

Group 4: Leo, Pao, Vao

Both Calvet and Cheylan Anticirce types are permitted.

Anticirce (definition)

On making a capture, any unit (including king) is reborn on its game-array square, as determined according to Circe rules,
i.e. rook, bishop and knight are reborn on the square of the same colour as the capture-square, pawvns on the file of the
capture; fairy piecesare reborn on the promotion-sguare on the file where the capture is made. The captureislega only if the
rebirth-squareis vacant. A capture may be made from arebirth-square. The unit that is captured is removed from the board,
asin orthodox chess. A pawn capturing on its 8th rank is not reborn as a pawn but as the pieceit is promoting to; thisislegal
provided the rebirth-square of the promoted unit is unoccupied. There are two types of Anticirce: the Calvet type where a
capture on the rebirth-squareitself islegal, and the Cheylan type where itisillegal.

Judges
Bulgaria, France, Japan, Slovakia, Switzerland

Reserve judge
Slovenia

Notes by the Tourney Director

Sorted by (@) the position of white king, (b) the position of black king (if same position of whiteking), (c) random choice (if
same position of both kings).

Computer test results are given as indicated by the country.

The symbolsfor grasshopper (f7.m) and nightrider ({4 %) are not indicated at the diagrams.

Many of the thematic effects in this section are virtual effects. Not al countries indicated these effects in their entries.
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#2 7+7C+  #2wv 18+7C+  #2wwwwy (w)  10+10C+
Anticirce Anticirce Cheylan Anticirce Anticirce Calvet
It=Pao |m-je-=Vao mt=Pao }o=Vao

G/1

1.De6+ (A)?Gxd2 [Gd]] (8)!, but also 1.— K xe6 [Ke8]! (Tourney Director)
1.Lf4+ (B)? Gxc6[Gcl] (b)!

1.Sc4+ (C)? Gx g5 [Gal] (c)!

1.Tg8! Zz. Gxd2[Gd1] (a) 2.Lf4 (B)#
1-Gxc6[Gcl] (b) 2.5c4 (C)#
1-Gxg5[Ggl] (c) 2.De6 (A)#
1—exd2[Bd7] 2.Dd6# (2.—- Gxd2 [Gd1]??)
1-fxg5[Bg7] 2.5cA# (2—Gx g5 [Ggl] ??)
1-Sf32.Lf4# (2—-Gxc6[Gcl]??)

(1.— g3 2.5f3,Sc4#. Tourney Director)



G/2

1.e8=S,N+? Kf8!

1.Kb1?[2.e8=S/e8=N/Tg8#]

1-Sf22.e8=S#

1—Ncb 2.e8=N#

1—Sf42.Tg8#

but 1.— Gx €7 [Gel]! 2.Tg8+ Gal!

1.Ka2! [2.e8=S5/e8=N/Tg8#]

1—Sf2 2.e8=SH#! (2.68=N+? Sx g4 [Sg8]!; 2.Tg8+? Kf6!)
1.—Nc5 2.e8=N#! (2.68=S+? Nx g3 [Ngl]!; 2.Tg8+? Nal!)
1—-Sf42.Tg8# (2.e8=S+? Gx g4 [Ggl]!; 2.e8=N+? Sx g6 [Sg8]!)
1—Scl+ 2.Tg8#

Thematic squares g1, g8; Fleck theme; check provoking key.

G/3

1.De2?[2.5f3#]

1-VAOC7 2.Tx g3 [Tal]#

1—dxc6 [Pc7] 2.PAOxc7 [PAOC8]#
but 1.— VAOCc8!

1.Td2?[2.Sd3#]

1—-VAQOC8 2.Db3#

1—dxc6 [Pc7] 2.Db3#

but 1.— VAOCc7!

1.PAOS2! [2.5c2#]

1-VAOQOC8 2.De2#

1-VAOC7 2.Td2#

1—dxc6 [Pc7] 2.De2#

Vladimirov and Vladimirov paradox.

Gl/4

Thematic tries:

1.De6+? PAO % d6 [PAOd1]!

1.De5+? VAO x d4 [VAOd1]!

1.Ded+? PAOx d4 [PAOd1]!

1.Db5+? VAO x d7 [VAOd1]!

1.Tc5+? PAOxh3 [PAOh1]!

Also: 1.DcA+? PAOx ¢4 [PAOC]]!; 1.hx g4? Sf6!

1.Tcl! [2.Dc4#]

1.— VAOf6 2.Deb# (2— PAO x €6??); 2.Dc4+? PAO x d6 [PAOd1]!

1.— PAOS6 2.De5# (2.— VAO x €577); 2.Dc4+? VAO x d4 [VAOd1]!

1.—f4 2.Ded# (2.— PAO x e4?77); 2.Dc4+? PAOx d4 [PAOd1]!

1.— Sc6 2.Db5# (2.— VAO x d7?7?); 2.Dc4+? VAO x d7 [VAOd1]!

1.— SFf6 2.Tc5# (2— PAO xh3?7?); 2.Dc4+? VAO x d4 [VAOd1]!

The last defensive move, 1.— Sf6, also prevents the white queen from mating on €6 or €5 (2.De6? VAOx d4! [VAOdL];
2.De5? PAOx d5! [PAOd1]). Fivethematic tries and five thematic variations. PAO/VAO Grimshaw in thefirst two variations.
A double defensive Grimshaw after 1.— Sf6, preventing queen mates but allowing Rook mate.
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#2UVWV 11+410C+ #2 13+15C+ #2 16+6 C+  #2vwv(*) 12+13C+

Anticirce Anticirce Anticirce Anticirce Cheylan
i) mj=Rook-Lion (TL) Fi=Lion (L)

o) ) =Rook-Lion (TL)
<s{=Bishop-Lion (LL)



G/5

1.Lb5+? Gx 2 [Gf1]!

1.Kb5+? Gx €5 [Gel]!

1.Tg4 (A)?[2.Lb5 (B)#] (2.Lxf4[Lcl]+? Gxh7 [Gh1]!)
1.— Ghh5 2.Kb5 (D)#

1-Gfh5 2.L xf4[Lcl] [D]#

but 1.— Gf5!

1.Le~?[2.Kb5#] Gfh5!

1.Lxf4[Lcl] [D]! [2.Kb5 (D)#] (2.Tg4+? Gxh7 [Gh1]!)
1.—Ghh5 2.Lb5 (B)#

1-Gfh5 2.Tg4 (A)#

1—-Sxc2[Sg8] 2.Kb3#

Lender and White correction.

Gl6

1.Gxe3 [Ges]! [2.Dh5#]

1 G1b5 2.Gx g2 [Gg8]#

1.— Geb5 2.Gx f1 [Gfg]#

1.— G7b5 2.Gx h6 [Gh8]#

1— Gxe8 [Gel] 2.Gxh6 [Gh]#
1—h5 2.Dg5#

GI7

1.506?[2.Sx b7 [Sb1]#] TL xb3 [TLb1]!
1.Ld6?[2.Lx a3 [Lcl]#] TL xc8 [TLcl)!
1.TLd7! [2.Td1#]

1~ TLx b3 [TLb1] 2.Sd6#
1-TLxc8[TLcl] 2.Ld6#

G/8

(*) 1.— TLx a5 [TLal] (a) 2.Ld6 (A)#, but not 2.5x h5 [Sbl] (B)?LL xg2 [LLg1]!
1-TLxab6[TLal] (b) 2.5x h5 [Sbl] (B)#, but not 2.Ld6 (A)? L1 xc2 [L1cl]!
1.Te7?[2.Ld6 (A)/Sxh5 [Sbl] (B)#] TLf5!

1.Txg6 [Th1]?[2.Txh2 [Tal]#] TL xa5[TLal] (a)! 2.Sxh5 [Sb1] (B)?LL xg2 [LLg1]!
1.Txd5[Th1]?[2.Txh2 [Tal]# TL xa6 [TLal] (b)! 2.Ld6 (A)?LIxc2 [LIcl]!

1.Txe4 [Thi]! [2Txh2 [Tal]#]

1-TLxa5[TLal] (a) 2.Sxh5[Sb1] (B)#

1-TLxa6[TLal] (b) 2.Ld6 (A)#

#2uwv(*) 12+47C+  #owv 10+12  #2v 7T+4C+  #2uw 14+13 C+
Anticirce Anticirce Calvet Anticirce Anticirce

T = =Rookhopper (TH)

‘& g =Bishophopper (LH)

G/9

1.e5+? Dxcl [Dd8] (2.Le57?)

1.Le5+? Dxd2 [Dd8] (2.657?)

Reciprocal white blocks avoid use of the other ,,clash of rebirth* (CoR)
(*) 1.—Txd2[Th8] (a) degrades CoR 2.e5 (A)#

1-Txcl[Th8] (b) degrades CoR 2.Le5 (B)#

1-Dxd2[Dd8] 2.Dg3#

1.d4? degrades CoR [2.e5 (A)#]

1.—-Td2 (a) encourages CoR 2.L €5 (B)# (2.D x d4 [Dd8] ?? Hol zhausen)



1-Dx~[Dd8] 2.Dg3#

1-€el=D,T 2.Td7#

1-c42.Txdl[Thi]#

but 1.— cx d4 [Bd7]!

1.Tb1! degrades CoR [2.L €5 (B)#]

1.—Tcl (b) encourages CoR 2.e5 (A)# (2.Dx bl [Dd8] ?? Hol zhausen)
1-Dx~[Dd8] 2.Dg3#

1—-el=G 2.Td7#

1-c42.Txdl[Thi]#

1.— Gxc6 [Gcl] encourages CoR 2.Th6#

Degradation of two ,, clashes of rebirth* (CoR) inthree phases: passive and active clearance of rebirth squaresto enable checks
by the hurdle of an anti-battery.

A|B
B

Paradox moves of the form: X

B A

G/10

l.exf3[Pf2]?Lf3! 2.Gg7+ Le2!
1.Nb3? Th2 2.Nc5+ Tx €2 [Tad)]!
1.Gg7! [2.0~#]

1-Lel 2.exd3[Pd2]#
1-Lf22.e3# (2e~?Gxgl!)
1—Ng5 2.e4#

1-Th2 2.exf3 [Pf2)#
1-f22.Nxd7 [Nd8]#

G/11
1.Lb1+? Gas!

2.bxa8=D [Dd1]?

2.bxa8=T [Th1]+? T xh1[Ta8]!
2.bxa8=L [Lf1]+?Ka2!

2.bx a8=G?

1.b8=G! [2.Gb1#]

1— GaB+ 2.Gx e4 [Ge8]#

1 Ghl 2.Gh4#

1-Th2 2.Gx h2 [Gh8]#

G/12

1.Ka4 (A)?2Kb4 (B)??2/Kc4 (C)?7? Gx a4 [Gal]/Sx b4 [Sh8]/LHx c4 [LHc1]! Soillegal!
1.Txg3[Tal]?[2.Kad (A)H]

1—-Gad 2.Tc5#

1—-LHxc8[LHc1] 2.Kc4 (C)#

1.—-Scl+ 2.Kb4,KcA#

but 1.— Gx h6 [Gh1] (8)! (2.Kad? Gx e4 [Gel]!; 2.Tc5? not check)
1.LHxb7 [LHB8]?[2.Kb4 (B)#] Sh4 (b)!

1L xa7 [Lcl]?[2.Kch (C)H] Sxcl [Shy] (c)! (2.Kc4?)

1.LHb4! [2Kx a2 [Kel]#]

1-Gxh6 [Ghl] (a) 2.Kad (A)# (2.K xa2? Sxd4 [Sh8]!)
1—-Sxb4[Shg] (b) 2.Kb4 (B)#

1—-Scl+ (c) 2.KcA (C)#

1—-LHxc8[LHcl] 2.Kca#



#2(*) 13+7C+  gavwwwwwy 9+3C+  #2(*) 14+11C+  #owy 13+14 C+

Anticirce Calvet Anticirce Cheylan Anticirce Anticircetype Cheylan
giZ=Lion (LI) mi=Pao i) mj=Rook-Lion (TL) mj=Rook-Lion (TL)

-<a{=Bishop-Lion (LL) -<a{=Bishop-Lion (LL)
G/13

(*) 1— LIf~ 2.Ted#

1.Tf2! [2fxe8=L [LfL# (2— L1 xf6 [L1f1]??)]

1.—Ke3+ 2.fxe8=S [Sb1]# (2— L1 xb3 [L1b1]??)
1—Ked 2.fxe8=D [Dd1]# (2— LI xd5 [L1d1]??)

1.—Ke5 2fxe8=T [Thi]#! (2.— LI xh5 [L1h1]??)
1—Lixel[Llel] 2fxe8=LI [LIe8]# (2.— K xg4 [Ke8]??)
1~ Lxd7[Lc8] 2.L xf3 [Lf1]#

G/14

1.98=D?[2.De8,Dg4,Dg5,Dg6,Dd5,Df 74#] PAOaB! 2.D~+ PAO x d6 [PAOd1]!
1.98=T?[2.Tg5#] PAOa4! 2.Tg5+ PAOx h4 [PAOh1]!

1.g8=L?[2.Lf7#] PAOf8! 2.Lf7+ PAOx 3 [PAOf1]!

1.98=S?[2.5f6#] PAODS! 2.5f6+ PAOx b4 [PAOb1]!

1.h7?[2.h8=D/T#] PAOh8! 2.gx h8=PAO?

1.5e8? [2.5f6#] PAODS!

1.g8=PAO! [2.PAOh8#]

G/15

(*)1—-Tf4 (a) 2.Ka7 (A)#
1-Tf5(b) 2.Td8 (B)#
1-Tf6 (c) 2.5b6 (C)#
1.Teb! [2.TLed#H]

1-Tf4 (a) 2.Td8 (B)#
1-Tf5(b) 2.506 (C)#
1-Tf6(c) 2Ka7 (A)#
1—-LLg3+ 2.Tch#

Latny cycle.

G/16

1.L.c3?[2.c8=D (A)#]

1-TLa3 2.c8=L (B)# (2—TL xf5[TLf1] impossible); 2.c8=D+? TL xd3 [TLd1]!
1-TLb32.Kc8 (C)# (2—LL xe6 [LLel] impossible); 2.68=D+? TL xd3[TLd1]! or 2—LL xd5[LLd1]!
but 1.— TLb5! (2.c8=D+ TL xd5[TLd1]!)

1.Sc4?[2.c8=L (B)#]

1-TLa3 2.Kc8 (C)#(2— TL xe5 [TLel] impossible); 2.c8=L+? TL xf3 [TLf1]!
1-TLb32.c8=D (A)# (2—LL xd5[LLd1] impossible); 2.c8=L+? TL xf3[TLf1]!)
1-LLxd5[LLd1] 2.Kc8# (2— TL xe5 [TLel] impossible); 2.c8=L+? TL xf5 [TLf1]!
1—D~ 2.Te7#; 2.c8=L+? TL(7)xf7 [TLf1]!

but 1.— Dh4! [Correction: 2.Te7+ Dh1!]

1.Sc5! [2.Kc8 (C)#] (2—LL xe6[LLel] and 2—TL xe5 [TLel] impossible)
1-TLa32.c8=D (A)# (2—LL xd5impossible); 2.Kc8+? TL xe3 [TLel]!
1-TLb32.c8=L (B)#(2—LL xd5impossible); 2.Kc8+? TL xe5 [TLel]!

3x 3 Shedey cycle (threat Latny).
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#2wv(V) 13+11C+ oy 11+415C+  #2v(w) 12+48C+ #2 14+8 C+
Anticirce Calvet Anticirce Cavet Anticirce Cavet Anticirce
{E=Leo [rt=Pao jp=Vao i m=Rook-Lion (TL) IEIE=Leo tm=Pao I m=PAO |- jo-=VAO
«a-a{=Bishop-Lion (LL) >-=Veao
G/17
1.Df5?[2.Tx €7 [Tal]#] LEOx d8 [LEOd1]! (2.T x e7,Txd6 [Tal]#? Keb!)
1.Dd5?[2.T % d6 [Tal]#]

1-LEOx d8 [LEOd1] 2.Te7 [Tal]#

1-g32.5f7# (2.Txd6 [Tal]? LEOxd8 [LEOd1]!; 2.Sxb7 [Sbl]? cx b1=D [Dd8]!)
but 1.— Ta7!

1.Df7! [2.Txe7 [Tal]#]

1—LEOxd8 [LEOd1] 2.Tx d6 [Tal]#

1-g32.De8# (2.Tx €7 [Tal]? LEOx d8 [LEOd1]!; 2.Sx b7 [Sb1]? cx b1=D [Dd8]!)
(1.—d5 2.Td6#)

1.PAQC3?[2.d34]

1—LEOx d8 [LEOd1] 2.PAOx g4 [PAOg8]#

but 1.—d3!

Dombrovskis, e Grand, change of mates.

G/18

1.Der?[2.LLx a4 [LLa3]#]
1-Txf5[Ta8] 2.Lca#
1—-LLxf5[LLf1] 2TLxh1[TLh8]#
1-LLd62.Dxe5[Dd1]#

but 1.— Tf8!

1.5d6! [2.Dxe5 [Dd1]#]
1-Tf52.LLxa4 [LLa8)#
1-LLf52.Lca#

1—-LLxd6[LLd1] 2. TLxh1[TLh8]#
Threat Latny.

1.De7 (A)? aB-bC-cD

1.5d6 (D)! aA-bB-cC

G/19

1.LEOb6?[2.LEOx g6 [LEOg8]#

1—-PAOel 2.L x b1 [Lf1]#

1-LEOf8,g8 L xhl [Lf1]#

but 1.— PAOf2! [2.LEOx g6? PAOf1!]

1.PAOdS6! [2.PAOx g6 [PAOg8]#]

1—-PAOel 2.L x h1[Lf1]# (2—LEO,PAOxh2?)
1-LEOf8,g8 2.L x bl [Lf1]# (2— LEO,PAO x b2?)
1.LEOf5? [2.Th8~#] VAOC2!

1.LEOg3?[2.LEOx g6 [LEOg8]/L x h1/Lf1]#] LEOx g3 [LEOg1]!
Reciprocal exchange of mates.

G/20

1.c4?[2.PAOh7#]

1.— PAON3 () 2.Lb8 (A)# (2.— VAO x b8 [VAOb1]?; 2.— PAO x ¢4 [PAOC1]?); 2.Tb7+? PAOx a3 [PAOal]!
1.— PAON4 (b) 2.Tb7 (B)# (2— VAO x a3 [VAOa1] ?; 2.— PAO x a3 [PAOal]?); 2.Lb8+? PAOx ¢4 [PAOCL]!
1—-Txd5[Ta8] 2.5d5#

1.— VAOd6~ 2.d6#

but 1.— T x c4 [Ta8]!



1.c3! [2.PAOh7#]

1.—PAOA3 (a) 2.Th7 (B)# (2— VAOx a3 [VAOal]?; 2— PAOx a4 [PAOal]?); 2.Lb8+? PAO x c3 [PAOC]]!
1.—PAOh4 (b) 2.Lb8 (A)# (2— VAOx b8 [VAOb1]?; 2— PAOx c3 [PAOC1]?); 2.Th7+? PAO x a4 [PAOa1]!
1.—Txd5 [Ta8] 2.Sd5#

1-VAOd6~ 2.d6#

Reciprocal change of mates with full use of afairy haf pin.

G/21 G/22

#2(*) 1049C+  #owy 15+9C+  #2v 9+9C+  #H2wwwww 16+10 C+

Anticirce Anticirce Cheylan Anticirce (vwvw)
Ire [m=Pa0 jo-=Vao {E=Leo [m=Pao = =Rookhopper (TH) Anticirce

T X =Rookhopper (TH)
5§ =Bishophopper (LH)

G/21

(*) 1.— PAOd6 2.Lab#
1-Td6 2.a8=T#

1.5f7! [2.Sd64]

1-PAQd6 2.a8=T#

1-Td6 2.La6#

(1.Sd7? PAOx h5 [PAON1]!)
Reciprocal change.

G/22

,Cook tries': 1.D~+?Kcl!; 1.Db1+?Ke2!; 1.Ke2+? LEO2x d6 [LEOd1] 2.PAOx el [PAOe8]#, but 1.— LEO6x d6 [LEOd1]!
(2.PAOx el [PAOe8] ?? sdlf check)

1.Le4?[2.PAOx el [PAOe8] (A)#] (2.Ke2+? LEO xd6 [LEOd1]!; 2.Db1+? L EOx c6 [LEOC]!)
1- LEOhI/LEOg2 (a) 2.Ke2 (B)#

1-LEOxh3[LEON1] (b) 2.Db1 (C)#

(both times not 2.PAOx el [PAOeS]+? LEO x e4 [LEOel]!)

but 1.— LEQeg!

1.Se6? [2.Ke2 (B)#] (2.Db1+? LEOxc7 [LEOC1]!; 2.PAOx el [PAOe8]+? L EOx e6 [LEOel]!)
1.—- LEOh1/LEOg2 (a) 2.Db1 (C)#

1-LEOxh3[LEON]] (b) 2.PAOx el [PACeS] (A)#

(both times not 2.Ke2+? LEO xd5 [LEOQd1]!)

1.— LEOf4 2.PAOx el [PAOe8]#

but 1.— PAOa6!

1.Se5! [2.Db1 (C)#] (2.PAOx el [PAOe8]+? LEOx €5 [LEOel]!; 2.Ke2+? LEO xd6 [LEOd1]!)
1.— LEOh1/LEOg2 (a) 2.PAOx el [PAOe8] (A)#

1-LEOxh3[LEON]] (b) 2.Ke2 (B)#

(both times not 2.Db1+? LEOx c6 [LEOCc1]!)

3x 3 threat Latny.

G/23

1.Te8?[2.Ke3#] THx a4 [THal]! 2.Ke3+ Ke5! (white rook is no longer active as capturing piece)
1.h8=L! [2.Lx g7 [Lc1]#]

1.—THxc6 [THc1] 2.5e2#

1-THxh8[THh1] 2.Tf8#

Try + solution = four thematic variations.

Gl24

1.Sg5+? Ke3 2.Sed#, but 1.— THx b2 [THb1]!
1.Lf5+? THx f3[THf1]!

1.Dd5+? Gx d2 [Gd1]!



1.Gb1? THb7! 2.Tf4+? THxh7 [THh1]!
1.GF1? THhS! 2.Tf4+? THx h7 [THh1]!
1.Gd1? G¢7! 2.Tf4+? Gxh7 [Gh1]!
(1L.Gd5? Ge7!; 1.Le3? LHx €3 [LHel]!)
1.Gab! [2.TF4#]

1.— THb7/THh5/GC7 2.Sg5/Lf5/Dd5#
1.— Sx a6 [Sg8] 2.Teb# [2.— Sx €677

(1.THeB8?[2.Kd5#] G5!, 1.Tc6? [2.Dd5#] Ges!, 1.gx ha [Ph2]?[2.L5#] Gxd2 [Gd1]!)

G/25

"
M/

18+12 C+

#2 14+6 C+ #2
Anticirce Cavet Anticirce Cavet
g m=PAO Jie-jo-=VAO

Gl27

#2uwv(*) 21+10C+
Anticirce

IEIE=Leo tm=Pao

- jo-=Vao

#2vv 11+9 C+
Anticirce Cheylan

Fi=Lion (L)
mj=Rook-Lion (TL)

G/25

1.e7! Zz. Thereisno threat:
2.5h6 (A)?Gx b2 [Gb1]! (a)
2.Lh7 (B)?Gxf7[Gf1]! (b)
2.Td5 (C)?Gxh5[Gh1]! (c)
2.Dd5 (D)? G x d4 [Gd1]! (d)
But because of zugzwang:
1-Gxb2[Gbl] (a) 2.Td5# (C)
1-Gxf7[Gf1] (b) 2.Dd5# (D)
1-Gxh5[Gh1] (c) 2.5h6# (A)
1-Gxd4 [Gd1] (d) 2.Lh7# (B)
1-12,Gf4 2.5h6#

G/26

1.PAOxe6 [PAOEe8]+ (A)? Kc3!

1.Tc5+ (B)? PAOx h2 [PAOh1]!

1.Ld5+ (C)? VAOx f6 [VAOf1]!

1.PAOf2?[2.PAOx €6 [PAOeS] (A)H]

1.— PAOD2 (8) 2.Tc5 (B)# (2— VAO x h8 [VAOh1]??); 2.PAOx €6 [PAOeS] +? VAO x d4 [VAOd1]!
1-VAODB2 (b) 2.Ld5 (C)# (2— PAOx 2 [PAOf1]??); 2.PAOx e6 [PAOEe8]+ PAO x d2 [PAOd1]!
1.—Sc3 2.Tc5# (B) (2— VAOx h8 [VAOh1]??)

but 1.— VAO&5! (2.PAOx €6 [PAOeS]+? VAO x d2 [VAOd1]!)

1.5c2?[2.Tc5 (B)#] (2— PAOxh2[PAOh1]??)

1-PAODB2 (a) 2.Ld5 (C)# (2— VAO x f6 [VAOf1] ??)

1-VAOD2 (b) 2.PAOx 6 [PAOe8] (A)# (2— PAOx d2 [PAOd1]??)

but 1.— g2! (2.Tc5+? VAOx h2 [VAOh1]!)

1.Sc3! [2.Ld5 (C)#H] (2— VAO x 6 [VAOf1]??)

1-PAOD2 (a) 2.PAOx €6 [PACe8] (A)# (2— VAOx d4 [VAOd1]??)

1-VAOD2 (b) 2.Tc5 (B)# (2— PAO xh2 [PAOh1] ??)

1.-VAOxc3 [VAOc]] 2.K x &6 [Kel]# (2— VAO x d4 [VAOd1] ??)

Shedey-cycle (3x 3 Dombro-Latny), Chinese Grimshaw 3x.

GI27

(*) 1.— LEOf1 (a) 2.Sexf2 [Sgl] (A)# (2.5dx 2 [Sgl!]? LEOx b5 [LEOb1]!)
1.— LEOg4 (b) 2.Sdxf2 [Sg1] (B)# (2.Sexf2 [Sgl]? LEOx b4 [LEOb1]!
1.Ke7? [2.Lg4#] LEOCS!

1.PAOC5!? [2.Lg4#] LEOf1 (a)! (2.Sexf2[Sg1] (A)? VAOx b7 [VAOb1]!)
1.VAOC5!1?[2.Lg4#] LEOg4 (b)! (2.Sdxf2[Sg1] (B)? PAO x b3 [PAOD1]!)



1.c5! [2.Lg4#]

1-LEOf1 (a) 2.8dxf2! [Sgl] (B)# (2.Sexf2[Sgl]? LEOx b5 [LEOb1]!

1-LEOg4 (b) 2.5exf2! [Sgl] (A)# (2.5dxf2[Sgl]? LEOx b4 [LEOb1]!

Reciprocal change, thematic tries, arrival correction on square ¢5, al phases are thematic, dua avoidance in solution.

G/28

1f3?7[2.a8=L (C)#; 2— TL xf2[TLf1]?7?]

1-¢3(2.88=L? TL xf3[TLf1]!) 2.Tb8 (B)# (2— TL xh4 [TLh1]??)
1-LIb52.88=D (A)# (2—TL xd2[TLd1]??)

but 1.— TLf4!

1.d3?[2.a8=D (A)#; 2—TL xd2[TLd1]?7?]

1-¢3(2.88=D? TL xd3[TLd1]!) 2.Tb8 (B)# (2— TL xh4 [TLh1]??)
1-LIb5 (2.88=D?L1xd3 [L1d1]!) 2.a8=L (C)# (2—TL xf2[TLf1]??)
but 1.— TLd4!

1.f41 [2.Tb8 (B)#; 2—TL xh4 [TLh1]??]

1-c3(2.Tb8? TL xh3[TLh1]!) 2.a88=L (C)# (2—TL xf4[TLd1]??)
1-LIb5 (2.Tb8? LI xh5[LIh1]!) 2.a88=D (A)# (2— TL xd2 [TLd1]??)
(1—LIh22.a8=D#; 1.—TLe4 2.a8=L#; 1.— TLd4 2.a8=L#)

Shedey (,Dombro-Lacny*), twicele Grand.

A

f@*// ,,,,, A%
#2vvv 12+11 #2vvvvv 13+9 C+ #2vv 10+9 C+
Anticirce Cavet Anticirce Cavet Anticirce Anticirce
m=Pa0 Jo-j»-=Vao = =Rookhopper (TH) mj=Rook-Lion (TL)

-<a{=Bishop-Lion (LL)

G/29

1Lar+? (A) Gxc4 [Gel]!

1.5c6+? (B) Nxg4 [Ng1]!

1.Ge8! [2.Kc7#]

1-Gg6 2.La7 (A)# (2.Kc7+? Gx e8 [Gel]+; 2.Le5+? Nd6!)
1.— Nd6 2.5¢6 (B)# (2.Kc7+? N x e8 [Nel]

1-Gxc4[Gcl] 2Kce8# (Nxc8invalid; 2.Kc7+? Gel!)
1-Gxb5[Gbl] 2.La7 (A)# (2.Kc7+? Gel!)

GI30

1.KdL/Ke2? VAOg4+!

1.504?[2.Se2#] PAOx d4 [PAOd1] 2.Ld4+ PAOCI!

1.94? VAOg2! 2.L.d4+ VAO x c6 [VAOCL]!

1.Sa7! Zz. PAOg4/VAOg4/PAOG5/VAOGS 2.Tc8/Ld4/K d2/So5#

G/31

1.LeB8?[2.Ke3#] bxcb [Pc7]! 2.Ke3+? G x e4 [Gel]! obstruction of K-rebirth square

1.nh8=D?[2.Df6#] hx g3 [Pg7]?2.Dh2#

but 1.— b6! 2.Df6+? G xd5 [Gd1]! obstruction of D-rebirth square

1.5h5?[2.5xf4 [Sgl]#] THx g4 [THg1]! 2.Txgl [Tal]+ Ke5! and now Txe5 isexcluded! Obstruction of S-rebirth square;
mating move in solution.

1.5f2,Se3?[2.Sh5#] black circe THgl isexcluded, so 1.— THg4! (2.5h5+? THgl!) Obstruction of S-rebirth square
1.Tf5?[2.Txf4[Tal]# Gxa3[Gal]! Obstruction of T-rebirth square; mating move in solution.

Keymove and L-rebirth: 1.n8=L! [2.L x c3 [Lc1]#] and thematic variations:

1-Gxc6[Gcel] 2.Tf5#

1—-THxc6 [THc1] 2.Sh5#

Non-thematic variation: 1.—hx g3 [Pg7] 2.L xg7 [Lc1]# (changed mate with same black move asin try with D-rebirth)



GI32

1K xe5[Kel] (A)? [2.De5 (B)#] (2.Le5+? TL xc4 [TLcl]!)
1.—dxc3[Pc7] (a) 2.Le5 (C)# (2.De5+2 TL xd3 [TLd1]!)
but 1.— TLd5!

1.Dxe5 [Dd1] (B)?[2.Le5 (C)#] (2.Ke5+? LL xe3 [LLel]!)
1—dxc3[Pc7] (a) 2.Ke5 (A)#[2.Le5+? TL xc4 [TLcl]!)
but 1.—LL x €3 [LLel]! (2Le5+? LL xc3[LLc1]!)
1Lxe5[Lcl] (C)! [2.Ke5 (A)#] [2.De5+? TL xd3[TLd1]!)
1—dxc3[c7] (a) 2.De5 (B)#[2.Ke5+? LL xe3 [LLel]!)

G/33
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#2vv 13+13C+  #2(*) 15+15C+  #awy 11+8C+  #2vwwv 10+11 C+

Anticirce Cheylan Anticirce type Cheylan Anticirce Anticirce

g m=Rook-Lion (TL) It =Pao Jz-jp-=Vao ¢ i=Pa0 j»-=Vao T X =Rookhopper (TH)

-<a{=Bishop-Lion (LL) & =Rookhopper (LH)

G/33

1.Dg2+? (Th1) TL xh5[TLh1]!

1.Txf2[Tal]+? (Lf1) TL xf6 [TLf1]!

1.Le2+? (Dd1) TL xd7 [TLd1]!

1.Kf4?2[2.Dg2 (A)#]

1—-Sd6~ (a) 2.Le2 (B)#

1-Sf5! (b) 2T xf2[Tal] (C)#

but 1.—LLe5!

1.Kd5?[2.Le2 (B)#]

1-Sd6~ (a) 2.T xf2[Tal] (C)#

1.-Sf5! (b) 2.Dg2 (A)#

but 1.— TLf5!

1.Keb! [2.T xf2 [Tal] (C)#]

1—-Sd6~ (a) 2.Dg2 (A)#

1-Sf5! (b) 2.Le2 (B)#

(1—LLel~+ 2.TLel#)

Complete 3x 3 Shedey cycle with black correction and active white King. White promotionsto queen, rook, and bishop. A
bonus promotion to knight after checking defence.

G/34

1.Ke7? L xe3 [Lf8]+!

1.Kd7?Te5!

(*) 1.— VAOf4x h6 [VAO1] 2.Txcl [Tal] (A)# (2— VAOf4x c7 [VAOC1] ??)

1-PAOf6x h6 [PAONL] 2.L x b7 [Lf1] (B)# (2.— PAOf6x d6 [PAOd1]??; 2.— VAOf7xd5 [VAOd1] ??)

1.— PAOf5x h5 [PAOh1] 2.Tb1 (C)# (2.— PAOf5x a5 [PAOal1] ??)

1.— VAOf7xh5 [VAOh1] 2.Sx b7 [Sb1] (D)# (2.— VAOf7x d5 [VAOd1] ??; 2— PAOf6x d6 [PAOd1]??)

1.Ke5! [2.Th84] (key unpins Tal)

1— VAOf4xh6 [VAO1] 2.Lxb7 [Lf1] (B)# (2— VAOf4xd6 [VAOd1]??; 2.— PAOf5xd5 [PAOd1]??); 2.Tb8+? Ka8!
3.Txa3[Th1]??

1—-PAOf6x h6 [PAON1] 2.Thl (C)# (2.— PAOf6x a6 [PAOal]??); 2.Th8+? Ka8! 3.Tx a8 [Th1]??

1— PAOf5xh5 [PAOh1] 2.Sxb7 [Sbl] (D)# (2— PAOf5xd5 [PAOd1]??; 2.— VAOf4x d6 [VAOd1]??); 2.Th8+? Ka8!
3.Txa3[Th1]??

1.— VAOf7xh5 [VAON1] 2.Tx cl [Tal] (A)# (2.— VAOf7x c4 [VAOC1] ??); 2.Th8+? Ka8! 3.Tx a8 [Th1]??

1.-Th8 2.5c8#

Latny x4.

G/35



»Cook tries': 1.5d2 (A)+? PAOx b3 [PAODL1]!; 1.PAOxd1 [PAQdS8] (B)+? VAO x d6 [VAOd1]!

1.fxg4 [Pg2]?[2.Sd2 (A)#] Sg3 (x) 2.PAOx d1 [PAOdS] (B)#, but 1.— VAOg3 (y)! (both times not 2.5d2 (A)+? PAOx b3
[PAODb1]Y)

1.f5?[2.PAOx d1[PAOdS] (B)#] Sg3 (x) 2.5d2 (A)#, but 1.— PAOg3 (2)! (bothtimesnot 2.PAOx d1 [PAOd8] (B)+?VAO x d6
[VAOd1]!)

1.Tc5! [2.Lb5#]

1.-VAOQ3 (y) 2.5d2 (A)#; 2.Lb5+? PAO % f3 [PAOf1]!

1.—PAOg3 (2) 2.PAOxd1 [PAOdS] (B)#; 2.Lb5+? VAO x 4 [VAOf1]!

1-Ld72.Lxd7 [Lf1]#; 1.— Sg3?7? self check

Dombrovskisand le Grand [after 1.— Sg3] on a chinese Grimshaw.

GI36

1.Lb4+ (A)? G xc2 [Gel]!

1.Tb3+ (B)? THxa7 [THal]!

1.04?[2.Lb4 (A)#]

1.—gxf2 [Pf7] 2.Th3 (B)# (2— THx a7 [THa1]??)
1.— Gb5 2.THa5 (C)#

1-c32.Lxc3[Lcl#

but 1.— THx a7 [THal]! (2.Lb4+ THcl!)
1.LHg1?[2.Tb3 (B)#]

1.— Se6 2.Lb4 (A)# (2.Th3+? Sx b3 [Sb1]!)

1.—b5 2.THa5 (C)#

1.— b6 2.Gar#

but 1.— Gd1!

1.Tb5! [2.THa5 (C)#]

15 2.Lb4 (A)# (2— Gx c2 [Gcl]??)
1—fxg5[Pg7] 2.Tb3 (B)# (2— TH xa7 [THal]??)
1.—Th5 2.Sx g6 [Sba]#! (2.THa5+? T xb5 [Tag]+!!)

.
#2uv(WV) 11+410C+  #2v 12+412C+  #2vwv 11+412C+  #2vwwwv 10+5C+
Anticirce Calvet Anticirce Cheylan Anticirce Anticirce
mi=Pao =-he-=Vao Fi=Lion (LI)

i m=Rook-Lion (TL)
«a-a{=Bishop-Lion (LL)

G/37

Thematic tries:

1.VAOd3?[2.Sx e6 [Shl]#] VAO x b5 [VAODL1]! occupying thefirst rebirth square for the white knight

1.VAOf5?[2.Sx €6 [Sbl]#] VAOd3! 2.5x 6 [Sb1]+ VAO x g6 [VAOgL]! occupying the second rebirth square for the white
knight

Also: 1.VAOC2? [2.Sx e4 [Sb1]#] VAOd3!; 1.Tb3+? ax b3 [Pb7]!

1.VAOxh7 [VAONS]! [2.5x €6 [Sb1]#]

Thematic variations:

1—-VAO€ef3 2.Sx 3 [Shl]# (2.Sx €6 [Sb1]+? VAO x g2 [VAOg1]!)

1-—e4 2.S5xe4 [Sbl]# (2.5x e6 [Sb1]+? VAO x g2 [VAOg1]!)

1.— PAO&6 2.5x f7 [Sbl]# (2.Sx €6 [Sb1]+? PAOx g6 [PAOg1]!)

1.—PAObL7 2.Th3# (ax b3?) (Sx 6 [Sb1]+? PAOx g2 [PAOg1]!)

Two thematic tries and four thematic variation combined with dual avoidance and white VAO correction. One of the tries,
1.Tb3+?, becomes a mate after 1.— PAOb7 defence.

GI38
,Cook tries*: 1.5h6+? L L xb8[LLb1]!; 1.LLg3+?? self check; 1.Dxf1 [Dd1]+?LLf1l; 1.TL xh3 [TLh8]+?L1xh4 [LIh1]!
and 1.— L1 xh8 [LIh1]!



1.f5?[2.Sh64]

1—-Sb5~ (a) 2D xf1[Dd1] (A)#; 2.5h6+? LI xb8[LI1b1]!

1-Sc3! (b) 2.TL xh3[TLh8] (B)#; 2.Dx 1 [Dd1]+? LI xf6 [LIf1]!
1.—-Sd4!! (c) 2.LLg3 (C)#; 2.TLxh3[TLh8]+? L1 xh4 [L1h1]!
1-TLe5 2.TLxh3[TLh8]#

but 1.— L1h8! (2.Sh6+ L1xb8[LIb1]!)

1.T3e5! [2.5h6#]

1.—Sb5~ (8) 2.LLg3 (C)#; 2.5h6+? LI xb8 [L1b1]!; 2.Dxf1 [Dd1]+? L1 xf6 [LIf1]!
1-Sc3! (b) 2.Dxf1[Dd1] (A)# 2.LLg3+? L1 xe5[Llel]!

1.—-Sd4!! (c) 2. TLxh3[TLh8] (B)#; 2.Dx f1[Dd1]+? LI xf4[LIf1]!
Latny; the thematical defences are of 1st, 2nd and 3rd degree.

G/39

1.Ga2? [2.N~#]

1.— Sc6 2.N x b4 [Nb8]#
1.—Lc5 2.Nxf2 [Nf8]#
1.—Tg8 2.Nx h5 [Nh8]#
but 1.— 4!
1.N~?[2.Ga2#] f4!
1.Nf41? [2.Ga2#] Tg8! [2.Gxh67]
1.Nb7! [2.Ga2#]

1.— Sc6 2.G x b4 [Gb8]#
1.—Lc5 2.Gxf2 [Gf8]#
1.-Tg8 2.G x h6 [Gh8]#
1.—f4 2.Nf5#

G/40

1.h8=D?[2.Df6#] c6! 2.D+? Gx d5 [Gd1]! obstruction of D-rebirth square
1.h8=T?[2.Tf8#] bxad [Par]! 2.T+? Gx a6 [Gal]! obstruction of T-rebirth square
1.h8=L?[2.Le5#H] Gab! 2.L+? Gx c5 [Gcl]! obstruction of L-rebirth square
1.h8=S?[2.596#] Ged! 2.5+? Gx g2 [Ggl]! obstruction of S-rebirth square
Keymove and K-rebirth: 1.Le8! 2.Ke3# (K xf4[Kel]!)

Four thematic triesin AUW and K-Circein solution.
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#2vvvvv 11+10C+ H#2*v 13+9C+  #2vvwv 11+15C+
Anticirce Cheylan Anticirce Calvet Anticirce Anticircetype Calvet
T = =Rookhopper (TH) IEIE=Leo 1 m=Pa0 g (mt=Pao Jo=Vao g1 mj=Rook-Lion (TL)
$ =Bishophopper (LH) =Vao <s{=Bishop-Lion (LL)
G/41
1.Sd5+? (A) Ke5!
1.Sd3+? (B) Ked!
1.Ke3+?(C) Gx e8! [Gel]!
1.Gb8?[2.5d5 (A)#H]
1-Geb (a) 2.5d3 (B)# (2.5d5? G xd5 [Gd1]! 3.Dxf4[Dd1]??)
1.—-THQ8 2.Tca#

1—Le8 2.Ke3 (C)#

but 1.— Ge8! (2.Ke3? G xe6 [Gel]!)

1.Gg6?[2.5d3 (B)#]

1.— THed (b) 2.5d5 (A)# (2.5d3? G d3 [Gd1]! 3.Dxf4[Dd1]??)
1.—Dg5 2.Lg3 (D)# (2.5d3? TH x g6 [THg1]! 3.Sxf4[Sg1]??)
1-Dxg6 [Dd8] 2.Lg5 (E)#



1-Le82Ke3 (C)#

but 1.— Gx 7 [Gf1]!

1.Dxg7 [Dd1]! [2.Ke3 (C)#]

1-Geb (a) 2.5d5 (A)# (2— G xd5 [Gd1]?); 2.Ke3? Gx €2 [Gel]!

1—-THe4 (b) 2.5d3 (B)# (2— Gxd3[Gd1]?); 2Ke3? THxe2 [THel]!
1—-Dxe6 [Dd8] 2.Lg5 (E)#; 2.Ke3? THxe8 [THel]!

1-Gb52.Lg3 (D)#; 2.Ke3? Gx e8 [Gel]!

Zagoruiko, pseudo le Grand, cyclic pseudo le Grand, Dombrovskis, Rukhlis.

G/42

1.VAOf1! [2.hx g5 [Pg2]#, but not 2.Tg2+ T x a5 [Th8]!]

1-L xb8[Lf8] 2.5f4# Battery opening toward e8! (2.hxg5? K x g2 [Keg]!)

1st degree

1-LEO~ 2.Dg5#

2nd degree

1-LEOx a5 [LEOal]! 2.Tg2#[2.Sg5+? LEOb1!]

1- LEOg8! 2.Kga# (2.5g5+? LEOx b8 [LEOb1]!)

1- LEOg4! 2.Kg2# (2.5g5+? LEOx b4 [LEOb1]!)

Three corrections of the second degree.

Quarterny sequence

2nd degree

1.- LEOg3(!) 2.Th2# (2.Sg5+? LEOx b8 or Kg4!)

White king does not take black king because hisinitial square is attacked.

3rd degree

1 LEOFf4(!1) 2.Kg3# (2.593+? LEOx b8 or LEOx b4!; 2.Th2+? PAO x h4 [PAOh1]!)

4th degree

1.- LEOe5 2.Kf4# (2.5g5+? LEOx b8!; 2.Th2+ PAOx h5 [PAOh1]!; 2.Kg3+? LEO xe2 [LEOel]!)

Three secondary correctionsand one quarterny sequence, all with the same black L EO. Two openingsof thewhitequeen-king
battery. Lateral battery queen-knight. Battery rook-pawn (rook mates after 1.—Bh2 2.hx g5 [Pg2] Tx a5 [Th8]?). Threetimes
battery f1-h3 (1.— LEOg4 2.Kg2 LEOg3?? VAOf1 mates). (1.— PAOxh5 [PAOh1] 2.hx g5 [Pg2] Lh2?? VAOf1 mates!)

G/43

(*) 1—Lxb7[Lc8] 2Kg3#
1—-Sxb5[Sg8] 2.Lg5#
1.c6?[2.PAOxh7 [PAOh8]#]
1-Txc3[Th8] (a) 2.Dh5 (A)#
1-Sxb5[Sg8] (b) 2.Kg3 (B)#
1-Lxb7[Lc8] (c) 2.Lg5 (C)#
but 1.— VAOx c6 [VAOc1]!
1.d5! [2.PAOx h7 [PAON8]#]
1-Txc3[Th8] (a) 2.Kg3 (B)#
1-Sxb5[Sg8] (b) 2.Lg5 (C)#
1-Lxb7[Lc8] (c) 2.Dh5 (A)#
Lafny and reciprocal change.

Gl44

1.Sxc3[Sgl]+?LL xb2 [LLb1]!

1.Sx €7 [Sgl]+?LL xb4 [LLb1]!

1.Sxe3[Sgl]+?LL xb6 [LLb1]!

1.Sxc7 [Sgl]+?LL xb8 [LLb1]!

1.Kg5! [2.TL xh4 [TLh8]#]

1-Txb2[Th8] 2.5x c3 [Sgl]'#

1-Txb4[Th8] 2.Sx €7 [Sgl]!#

1-Txb6[Th8] 2.5x €3 [Sgl]!#

1-Txb8[Th8] 2.Sx c7 [Sgl]!#

1—-f6+2.5xf6 [Sgl]#

1.—f5 (unpinning) 2.Sf4#

1-LLxd4[LLd1] 2.Sxc3[Sgl]!#

1.— Le8~ does not defend as the TLh8 will control e8.
1.Tg2?[2.TL x h4 [TLh8]#] f5!

1.Kf3?[2.Sf4/TL xh4 [TLh8]#] LL x d4 [LLd1]+! 2.Kg2+ Lel!



#2UVWV (VWV) 8+8C+ 2 15+15C+  #2w 18+18C+  #2 6+17 C+
Anticirce Calvet Anticirce Cavet Anticirce Anticirce

{E=LEO [zm=PAO It t=Pao jo=Vao

- Jo-=VAO

G/45

Thematic tries:

1.Ded+? Gx d4 [Gd1]!

1.De5+? Gx d4 [Gd1]!

1.De6+? Gx d6 [Gd1]!

1.Le6+? Gxf3[Gf1]!

Also: 1.De7/De8? Tcl! 2.Led+ Tf1l; 1.d8=G+ cxd4 [Pd7]!, with square d7 open after promotion.

1.Del! [2.Le6#H] (2.Led+? Keb! 3.K x K??with rebirth square occupied by the white queen; dua avoidance in threat)
1—L xd4 [Lf8] 2.De5# (2.De4?)

1-Txd4[Th8] 2.De4# (2.D€5?)

1.—Sxd6 [Sh8] 2.Deb#

Four thematic tries. Black defends by creating two flights for his king, d4 and d6. The capture on d4 creates an Anticirce
(beneficial!) Grimshaw, forcing dual avoidance.

G/46

1.Tcl+ (A)?LEOxh7 [LEOh1]!

1.Le2+ (B)? VAO x f5 [VAOf1]!

1.Sb2+ (C)? VAO x b5 [VAODb1]!

1.— PAOb6~+ 2.De2#

1.5f7?[2.Tcl (A)#] (2—LEOxh7 [LEOh1]??)
1~-d6 (a) 2.Le2 (B)# (2.502+? VAOx b3 [VAOD1]!)
1~d5 (b) 2.902 (C)# (2.Le2+? VAO x f3 [VAOf1]!)
1.— LEOC7/PAOb6~ 2.De2#

1—-Lcl2.Td2#

but 1.— VAOe4! (2.Tc1+? VAOxh7 [VAOh1]!)
1.PAOf4?[2.Le2 (B)#] (2.— VAO x5 [VAOF1]??)
1~d6 (a) 2.90b2 (C)# (2.Tcl+? PAOxh6 [PAOh1]!)
1~d5 (b) 2.Tcl (A)# (2.5b2+? VAOx b3 [VAOD1]!)
1.— LEOb7/LEOC7/PAOb6~ 2.De2#
1.—VAOCch7/bxc3 [Pc7] 2.Tcl#
1-S922Kxg2[Kel]#

but 1.— VAOgd5! (2.Le2+? VAO x f3 [VAOf1]!)
1.PAOCE! [2.902 (C)#] (2— VAO x b5 [VAODL1]??)
1~d6 (a) 2.Tcl (A)# (2.Le2+? VAO x f3[VAOf1]!)
1~d5 (b) 2.Le2 (B)# (2.Tc1+? PAOx h6 [PAON1]!)
1.— LEOb7/PAOb6~ 2.De2#

1.—-VAOef7 2.Tx d8 [Tal]#

Full thematic Shedey-cycle (3x 3 Dombro-Latny) with rebirth clashes at both the double pawn defences and the mates.

Gl47

1.Ld4?[2.Tx €3 [Tal]#]

1—PAOf3 (8) 2.gxf8=T [Tal] (A)#
1 PAOf4 (b) 2.9xf8=D [Dd1] (B)#
1— PAOF5 () 2.gxf8=L [Lc1] (C)#
but 1.— VAO x a5 [VAOal]!
1.5d3?[2.Kh1#]

1— PAOF3 (a) 2.9x8=D [Dd1] (B)#



1-PAOf4 (b) 2.gxf8=L [Lcl] (C)#
1-PAOf5 () 2.gxf8=T [Tal] (A)#
1-PAOxh6 [PAOhL] 2.gx f8=PAO [PAOS8]#
1.—-c52.PAOd1#

but 1.— Sx €7 [Sh8]!

1.Ld5! [2.PAOd1#]

1-PAOf3 (a) 2.gxf8=L [Lcl] (C)#
1-PAOf4 (b) 2.gxf8=T [Tal] (A)#
1-PAOf5 (c) 2.gxf8=D [Dd1] (B)#

1.— PAOx h6 [PAOh1] 2.gxf8=PAO [PAOf8]#
1-VAOx a5 [VAOal] 2.PAOx al [PAOa8]#
1.- VAOxd5 [VAOd1] 2.PAOx b1 [PAObLS]#
CompleteLatny cycle.

G/48

1.Gg4! [2.Kg2#H]

1-Txg4[Ta8] 2Nxc5 [Nc8]#

1-L xg4[Lc8] 2.Nxd6 [Nd8]#
1-Dxg4[Dd8] 2.Nxa2 [Na8]#

%7

s WY

4% = /ﬁ/” o,
S Wé/
#2vvv 13+12C+  #2 11+13C+  #2vwwv 11+11C+  #2v 7+12 C+
Anticirce Anticirce Cheylan Anticirce Cheylan Anticirce Calvet
- j>-=Vao ) m=Rook-Lion (TL) {E=-Leo
G/49

1K xh2 [Kel]+? Gx g2 [Ggl]!

1.Lxc2 [Lf1]+? Nxd4 [Nd1]!

LNf7+? T xc3 [Th8]!

1.Lh4! [2.Lg5#]

1.-Gab 2.K x h2 [Kel]# (2.Lg5+? Gx c3 [Gcl]!)
1.~ Nd7 2.L xc2 [Lf1]# (2.Lg5+? N x c5 [Nc1]!)
1.—Tal 2.Nf7# (2.Lg5+? Tcl!)

G/50

1.Kf1! [2.VAh2#]

1—Da8~+ (=ex f1=T—TaB) 2.VA x a4 [VAa8]# (=ex f8=D—Dd1)
1.—Tc8~+ (=ex f1=L—Lc8) 2.VA x c3 [VACS]# (=ex f8=T—Tal)
1-Lg8~+ (=exf1l=5—5g8) 2.VA x g5 [VAQ8]# (=exf8=L—Lcl)
1.—-Sd8~+ (=exf1=D—Dd8) 2.VA x d4 [VAd8]# (=ex f8=S—Sg1)
Virtual cyclic Babson.

G/51

1.TLb1+? (A) TLd1!

1.TLel+? (B) TLcl!

1.TLd6+? TLxd5[TLd1]! (2.gxh8=D [Dd1]??; clash of rebirth [CoR] for wDh8 and bTLd7 on d1)

1.TLc6+? TLx 5 [TLcl]! (2.gxh8=L [Lc1]?7?; CoR for wLh8 and bTLc7 on cl)

1.Kf1! (exposure to four checks!) [2.TLgel#]

1—Sb6+2.TLx a3 [TLa8]# (2—exf1=T [Ta8]?? not playable: 3.gxh8=T [Tal]!; CoR for wTLal and bTf1 on a8)
1-Td~ 2.TLxd7 [TLd8]# (2.—exf1=D [Dd8] ?? not playable: 3.gxh8=D [Dd1]!; CoR for wTLd1 and bDf1 on d8)
1—-D~ 2.TLxC7 [TLc8]# (2—exfl=L [Lc8]?? not playable: 3.gxh8=L [Lcl]!; CoR for wTLcl and bLf1 on c8)
1-Lh72.TLx g4 [TLg8]# (2.—exf1=S[Sg8]?? not playable: 3.gxh8=S[Sg1]!; CoR for wTLg1 and bSf1 on g8)
1—TLd3 2.TLb1 (A)#; 2.TLgel? TL xg3 [TLg1]! (CoR for wSh8 and bTLa3 on gl); dual avoidance 2.TLd4? TL xd5
[TLd1]! (CoR for wDh8 and bTLd7 on d1)



1—TLc3 2.TLel (B)# 2.TLgel? TLxg3 [TLg1]! (CoR for wSh8 and bTLa3 on gl); dual avoidance 2.TLc4? TL xc5
[TLc1]! (CoR for wLh8 and bTLc7 on cl)

1-TLxer[TLel] 2TLxel[TLe8]# (2—K xg7[Ke8]? CoRforwTLclandbK one8); 2.TLgxel[TLe8]? TL xg7[TLgl]!
(CoR for wSh8 and bTL€7 on g1)

»Clash of rebirthin Babson-task form‘ plus closed cycle of black pieces being freed and being reborn (S-T, T-D, D-L, L-S),
»~Clash-of-rebirth dua avoidance’, all inal 12, clashes of rebirth* on 8 squares.

G/52

1.Td4? [2.Kf4#]

1—-LEOC6 (2.Kf4? LEOx €6 [LEOel]!) 2.5d5 (A)#; 2.5c2+? LEOx g2 [LEOg1]!
1-LEOa2 (2.Kf4? LEOx €6 [LEOel]!) 2.5c2 (B)#; 2.5d5+? LEO x g2 [LEOg1]!
but 1.— LEQal!

1L xf3[Lf1]! [2.Kf3H]

1—-LEOC6 (2.Kf3? LEOx €6 [LEOel]!) 2.5c2 (B)#; 2.5d5+? LEO x g2 [LEOg1]!
1-LEOa2 (2Kf3?LEOxe6 [LEOel]!) 2.5d5 (A)#; 2.5c2+? LEO xg2 [LEOg1]!
Direct unpin, reciprocal change, dua avoidance.

G/54

SihY
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#H2VVVV 9H+7C+  #2w 13+9C+  #2vwwwy (vwv)  14+11C+ 42 7+15C+

Anticirce Anticirce Calvet Anticirce Anticirce
giZ=Lion (LI) Fyi=Lion (LI)
i) mj=Rook-Lion (TL) g=Rook-Lion (TL)
-a-a{=Bishop-Lion (LL) <sf=Bishop-Lion (LL)

G/53

1.Kg4?[2.c8=D# Gf3! 2.c8=D+? Gd1!

1.Gd6? [2.d8=S#] G x e8 [Gel]!; 2.d8=S+/c8=D+? Kc8/Gd1!
1.Gf8?[2.d8=S#] Gx €8 [Gel]! 2.d8=S+/c8=D+? K x a6 [Ke8]/Gd 1!

1.ax b6 [Pb2]? Zz. Gf1! 2.c8=D+? Gd1!

1.Gx b6 [Gb8]! Zz.

1— Gxh2 [Gh1] 2.c8=D# (2.c8=L+? Gf1!; 2.d8=S+? K c6!/G x b8 [Gb1]!)
1— Gxe8 [Gel] 2.c8=L# (2.c8=D+? Gd1!; 2.d8=S+? K c8!/K x a6 [Keg]!)
1— Gx b8 [Gb1] 2.c8=L#

1. Gf1 2.08=S# (2.c8=D+? Gd1!; 2.c8=L+? Lf1!)

1— Gx a5 [Gal] 2.Th6# (2.c8=L+? Gf1!; 2.d8=S+? Kb6!; 2.c8=D+? Kb6!)
1.— Gd1 2.Th6# (2.c8=L+? Gf1!; 2.d8=S+? Gx b8 [Gb1]!; 2.c8=D+? 3.Gx b7 [Gd1]?)

G/54

1.TLa5?[2.LIa6#]
1-LIb3+2.L1xg2[L1g8] (A)#
1-LId5+2.L1xg3[L1g8] (B)#
1—-Lle6++ 2.L1xg4[L1g8] (C)#
but 1.—LLa4!

1.LLa7?[2.Lla6#]

1-LIb3++ 2.L1xg3[L1g8] (B)#
1-LId5+ 2.L1 xg4[L1g8] (C)#
1-Lle6+2.L1xg2[L1g8] (A)#
but 1.— Th2! [specific pin]
1.LLh1! [2.b74]

1-LIb3+2.L1 xg4[L1g8] (C)#
1-LId5+2.L1xg2[L1g8] (A)#
1-Lle6+ 2.L1xg3[LIg8] (B)#
Complete Latny with thematic crosschecks and Umnov effect.



G/55

1.Dg5+?LLxd3 [LLd1]!

1.Lg5+?LIxc6 [LIc1]!

1.Td2?[2.Kg5 (A)#] (2.Dg5+?L1xd2 [L1d1]!)

1-L16a4 (a) 2.Lg5 (B)# (2.Kg5+?L I xe8 [LIel]!)

1-LI2&4 (b) 2.Dg5 (C)# (2.Kg5+? L1 xe8 [LIel]!)

but 1.— Tc4! (2.Kg5+?L16xe2 [LIel]!)

1.TcA?[2.Lg5 (B)#] (2Dg5+?LIxd3 [L1d1]!; 2Kg5+?LI2xe2 [L1el]!])
1-LI16a4 (a) 2.Dg5 (C)# (2.Lg5+? L1 xc4 [LIc1]!)

1-LI284 (b) 2.Kg5 (A)# (2.Lg5+?L1xc4 [LIc1]!)

but 1.—LIc6! (2.Dg5+?LL xd3 [LLd1]!;2.Lg5+?LIcll)

1.Tc2! [2.Dg5 (C)#] (2.Lg5+?LIxc2[LIcl]!; 2.Kgh+?LI6xe2 [LIel]!)
1-LI16&4 (a) 2.Kg5 (A)# (2.Dg5+?L1d1!)

1-LI2&4 (b) 2.Lg5 (B)# (2.Dg5+? L 1d1!)

(1.Tdc3?[2.Dg5#] Td4! (2.Dg5+? Td1!)

1.Td41?[2.Dg5#] L12a4! (2.Dg5+? L1 xd4 [L1d1]!)
1.Tc8?[2.Dg5/Lg5#] TcA! (2.Dg5+?L1xd3 [L1d1]!; 2.Lg5+?Tcl!)

G/56

1.Kg5! [2.Gh5#]
1-Th~+2.Gxb7 [Gh8]#
1-Da5+ 2.Gxd3 [Gd8)#
1-Sf~+2.Gxf7 [Gf8]#
1-Tg8+ 2.Gxh3 [Gh8]#
1-Kxf3[Ke8] 2.5g7#

ol g ol ol
Sk

#2vvwv 15+20C+  #2vvwv 21+11C+  #2(*) 14+22C+  #2(*) 10+13 C+

Anticirce Anticirce Anticirce Cheylan Anticirce Calvet
giZ=Lion (LI) {E=Leo [rEm=Pao i) mj=Rook-Lion (TL)

le-je-=Vao -aij-e{=Bishop-Lion (LL)
GI57

1.LIxb1[LIb8]+?LIxb2[LIb1]!

1.LIxd1[LId8]+?LIxd4 [LId1]!

1.LIxh1[LIhg]+? LI xh2[LIh1]!

1Lf2[2.Sx €7 [Sgl]#]

1—-LId52.LIxbl[LIb8]#

1-Lla2 2.LIxd1 [LIdg]#

1.—-Sd6 2.LIxh1 [LIhg]#

1-Licd 2L xel [Lcl)#

1-Lla2 2.L1xf1[LIfg]#

Black king is already attacked by all kind of white pieces that have not yet a square to end the move.

G/58

1.PAOE5~?[2.VAOx g3 [VAOGS8]#]

1.PAOd5? PAOES! (2.fx €5 [Be2]+? PAOx d5 [PAOd1]!)
1.PAOC5? PAOS! (2.ex d5 [Bd2]+? L x c5 [Lf8]!)
1.PAOD5? PAOCS! (2.Sx ¢5 [Sgl]+? VAO % b5 [VAOb1]!)
1.PAOE5! [2.VAOx g3 [VAOQS]#]

1.— PAOE5 2.f x 5t

1.— PAOdS5 2.ex d5#

1.— PAOC5 2.Sx c5#



1.—PAODS 2.c4#
(2.VAOx g3 [VAOg8]+? VAOx h3 [VAOh1]!
Complex trieswith Loshinski magnet.

G/59

(*) 1.— Seb~ (a) 2.TLf1 (A)#; 2.TLg3+? TL xg4 [TLg1]!

1.—Sf4l (b) 2.TLg3 (B)#; 2.TLf1+? LL xd6 [LLd1]!

1-Sc7~ (c) 2.TLa3 (C)#; 2.LLa3+? LL xc6 [LLc1]!

1-Sd5! (d) 2.LLa3 (D)# 2.TLa3+? TL xa5[TLal]!

1.65! [2.LLb4#

1-Se6~ (8) 2.TLg3 (B)#; 2.LLb4+? TL xe5 [TLel]!; 2. TLf1+? LL xd6 [LLd1]!
1—Sf41 (b) 2.TLf1 (A)#; 2.TLg3+? TL xg4 [TLg1]!

1-Sc7~ (c) 2.LLa3 (D)#; 2.LLb4+? TL xe7 [TLel]!; 2.TLa3+? TL xa5 [TLal]!
1.—Sd5! (d) 2.TLa3 (C)#; 2.LLa3+? LL xc6 [LLcl]!

Double reciprocal change and two systems of black correction. Virtual white AUW. 11 black thematic lines leading to the
»rebirth clash”.

G/60

(*) 1—-d22.Txa3 [Tal]#

1.—Gg2 2.Nx c5 [Nc8]#

1bxc6[Pc2] [2.Lc6H]

1.-d2 2.Nxc5 [Nc8]#; 2.Tx a3 [Tal]+? G xh6 [Gh1]!
1-Gg2 2.Txa3 [Tal]# 2.Nxc5 [Nc8]+? T xc2 [Ta8]!
1-Gxc2 [Gel] 2.Nxc5 [Nc8]#

1-Te6 2.Tx a3 [Tal]#

Reciprocal exchange of mates.
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#2VWV(*) 12+12 C+
Anticirce Cheylan

gndi=Lion (L)
«a-a{=Bishop-Lion (LL)

G/61

(*) 1—LIf2 (a) 2.d8=D (A)#

1—-LIxc3[LIcl] (b) 2.d8=T (B)#

1—-Lg7+ 2.LIxf3[LIf8]#

1-LId52LIxd5[LId8]#

1-LIxd4[Lld1] 2.LIxd1[LId8])#

1.d8=D+?LIxd4[LId1]!

1.d8=T+?LI|xa8[Llall]!

1.Se8+? Keb 2.5¢5#, but 1.— L Lgl!

1.d5! [2.Se8#; 2.d8=D? L1 xd5 [LId1]!; 2.d8=T? LI xad [Llal]!; 2.5b5? K xd7 [Ke8]!]
1-LIf2(a) 2.d8=T (B)#

1—-LIxc3[LIc1] (b) 2.d8=D (A)#

1-Lg7+2.LIxf4[LIf8]#

1-LIxd5[LId1] 2.LIxd1[LId8])#

1-LId42LIxd4[LId8]#

1—Le82.5b5#

1—-LLc8~ 2.LId8#

1—-Lxe7[Lf8] 2.LIgd8#

1-fxg5[Pg7] 2.LIhd8#

Five changes of play, including reciprocal change of queen-rook mating promotions, task: al in al 11 mating moves on d8



in 2 phases.



